Example:

3 m drill and 12 m sprayer
4 m drill and 16 m sprayer
Symmetric 4

Symmetic system usually works best if you have for example 3m drill and
15m sprayer or 4m drill and 20m sprayer.

Even if you have combinations like in this sample, instead of using
asymmetric system you can use symmetric. You just need to drive the first

drive with sprayer so that boom is half seeder width outside of the field.
With suitable boom sections this is simple.
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Example:
3 m drill and 21 m sprayer

Symmetric 7
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Example:

3 m drill and 15 m sprayer
4 m drill and 20 m sprayer

Symmetric 5
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Example:
3 m drill and 15 m sprayer
4 m drill and 20 m sprayer

Symmetric 5

Junldenri



Example:
3 m drill and 12 m sprayer
4 m drill and 16 m sprayer

Asymmetric right 4
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